07811 MEEEH FOE, WIP

T 1.4305,

g
2SN, WEH 12.9 124,
SETEN , THWN A2-70 E,

B
RERFFE |, AZEAMH , RENETDH. NIIZIARLERNESR
B, HETHRAHMTH IR T EBMANFRE D,

AT AZENEFE h11 A,

BELHE
-40 °C - +175 °C,

BEER .
HiR,

07811-00801 mAFOE G 20 M3x8 8 18 22,4
07811-01001 AFF O M E 20 M3x10 10 24 26

07811-01201 REi=E] G 24 M4x12 12 28 31,8
07811-01601 AFOE Ml 29 M5x16 16 34 39,4
07811-02001 AFOR M 33 M6x18 20 40 46,4
07811-02501 Ei=E] G 33 M6x18 25 45 50,8
07811-03001 AFF O ME 33 M6x18 30 54 58,6
07811-04001 REi=E] M 33 M6x18 40 60 65

07811-05001 AEnE:] Ml 41 M8x25 50 78 87

07811-00802 AFOR W 20 M3x8 8 18 22,4
07811-01002 Ei=E] TEN 20 M3x10 10 24 26

07811-01202 AFF O TEN 24 M4x12 12 28 31,8
07811-01602 REi=E] TEN 29 M5x16 16 34 39,4
07811-02002 RO TEWN 33 M6x18 20 40 46,4
07811-02502 AFOR TEW 33 M6x18 25 45 50,8
07811-03002 Bk TEMN 33 M6x18 30 54 58,6

© norelem www.norelem.com




07811 MEEEH FOE, KLh

C
(DIN912)
07811-04002 AFOR THW 33 M6x18 40 60 65
07811-05002 AFOE e 41 M8x25 50 78 87

© norelem www.norelem.com



